

FUQUAY, INC.



MEMBER PRICING

PROJECT SPECIFIC DISCOUNTED PRICING

4861 Old Hwy 81, New Braunfels, TX 78132

Phone (830) 606-1882 Fax (830) 606-1885

PROPOSAL

LIST PRICING

DATE: May 1, 2025

PROJECT: Prexy Drive Waterline Rehabilitation

BUYBOARD CONTRACT NUMBER #731-24

							01110	<u> </u>	IDENTI KIOING	<u> </u>	<u> Diococi</u>	ILD I RIGINO
ITEM 6		Excavation and Additional Associated Items										
Section I Item 6	25112	Access Pit (0'-8' deep)	EA	5	\$	5,136.00	\$25,680.00	-\$359.52	\$4,776.48	\$23,882.40	\$4,500.0	0 \$22,500.00
Section I Item 6	25114	Potholing for Nearby Utility Location (0'-8' deep)	EA	10	\$2	2,247.00	\$22,470.00	-\$157.29	\$2,089.71	\$20,897.10	\$1,000.0	
<u>ITEM 12</u>		Storm Water Quality Pond Maintenance and Renewal and Related Items										
Section I Item 12	31118	Bermuda Sodding	SY	111		\$45.00	\$4,995.00	-\$3.15	\$41.85	\$4,645.35	\$21.0	0 \$2,331.00
<u>ITEM 16</u>		Horizontal Directional Drilling (HDD) and Related Items										
Section I Item 16	34100	Installation of Pilot Hole- Dirt	LF	3000		\$192.50	\$577,500.00	-\$13.48	\$179.03	\$537,075.00	\$79.0	0 \$237,000.00
Section I Item 16	34104	Reaming 8-inch Diameter Final Hole - Dirt	LF	3000		\$224.50	\$673,500.00	-\$15.72	\$208.79	\$626,355.00	\$53.0	0 \$159,000.00
Section I Item 16	34129	Install 8-Inch HDPE	LF	3000		\$128.50	\$385,500.00	-\$9.00	\$119.51	\$358,515.00	\$70.0	0 \$210,000.00
ITEM 20	'ater	All Other Underground Construction and Supplemental Items and Related Items										
Section I Item	<u>ater</u>											
20 Section I Item	38206	New 3/4" Short Service	EA	18		,412.50	\$25,425.00	-\$98.88	\$1,313.63	\$23,645.25	\$1,300.0	
20 Section I Item	38207	New 3/4" Long Service	EA	19		,541.00	\$29,279.00	-\$107.87	\$1,433.13	\$27,229.47	\$1,400.0	
20 Section I Item	38216	6" Gate Valve	EA	6		,669.00	\$10,014.00	-\$116.83	\$1,552.17	\$9,313.02	\$1,200.0	
20 Section I Item	38217	8" Gate Valve	EA	11		2,247.00	\$24,717.00	-\$157.29	\$2,089.71	\$22,986.81	\$1,500.0	
20 Section I Item	38230	Fire Hydrant	EA	6		,272.00	\$61,632.00	-\$719.04	\$9,552.96	\$57,317.76	\$7,500.0	
20 Section I Item	38231	Pipe Fittings, All Sizes & Types	TN	1	•	2,840.00	\$12,840.00	-\$898.80	\$11,941.20	\$11,941.20	\$8,000.0	, ,
Section I Item	38233	8" Water Tie-Ins	EA	7		3,210.00	\$22,470.00	-\$224.70	\$2,985.30	\$20,897.10	\$2,500.0	
20	38237	Hydrostatic Testing	EA	3	\$6	5,420.00	\$19,260.00	-\$449.40	\$5,970.60	\$17,911.80	\$4,500.0	0 \$13,500.00
				1	1		I	I		l	1	1 1

Concrete/Road Work												
Section I Item 20 38267 Granular bac	ackfill TON	200	-	\$96.50	\$19,300.00		-\$6.76	\$89.75	\$17,949.00	-	\$35.00	\$7,000.00
Section I Item 20 38268 Flowable Fill	CY	100		\$449.50	\$44,950.00		-\$31.47	\$418.04	\$41,803.50	-	\$200.00	\$20,000.00
Section I Item 20 38292 HMAC (Typ	pe A, B, C, or D) TON	20		\$385.00	\$7,700.00		-\$26.95	\$358.05	\$7,161.00	-	\$200.00	\$4,000.00
Supplemental Items												
Section I Item 20 38297 Traffic control	rol DAY	30		\$3,210.00	\$96,300.00		-\$224.70	\$2,985.30	\$89,559.00		\$250.00	\$7,500.00
			\$2,063,532.00						\$1,919,084.76			\$837,031.00

SPECIAL PROJECT NOTES

- 1) RESTORATION INCLUDING, CURB AND GUTTERS, BUSHES, FENCES, ETC. ARE NOT INCLUDED IN THIS PROPOSAL PRICING.
- 2) CITY WILL PROVIDE HEAVY TRAFFIC CONTROL, IF REQUIRED.
- 3) NOTE ADDITIONAL EXCLUSIONS BELOW.

ALL MATERIAL IS GUARANTEED TO BE AS SPECIFIED, AND THE WORK TO BE PERFORMED IN ACCORDANCE WITH THE DRAWING AND SPECIFICATIONS SUBMITTED FOR THE ABOVE WORK AND COMPLETED IN A SUBSTANTIAL WORKMANLIKE MANNER. ANY ALTERATION OR DEVIATION FROM SPECIFICATIONS AND DRAWINGS INVOLVING EXTRA COSTS WILL BE EXECUTED ONLY UPON WRITTEN ORDERS AND WILL BECOME AN EXTRA CHARGE OVER AND ABOVE THE QUOTATION. WORKER'S COMPENSATION AND PUBLIC LIABILITY INSURANCE ON ABOVE WORK TO BE FURNISHED BY FUQUAY, INC. THERE MAY BE AN ADDITIONAL CHARGE FOR PROVIDING A WAIVER OF SUBROGATION AND/OR BEING LISTED AS AN ADDITIONAL INSURED ON FUQUAY'S INSURANCE. THE CHARGE SHALL BE EQUAL TO THE AMOUNT CHARGED TO FUQUAY FOR SAID SERVICE.

EXCLUSIONS:

BOND, SALES TAX, AND OCP PERMITS, BURDENS, FEES WASTE HAUL-OFF SURVEYING SITE CLEARING BARRICADES, SIGNS, TRAFFIC HANDLING
INFILTRATION REPAIR
DEWATERING
ALL BYPASS PUMPING AND PIPE PLUGGING
PROVIDING AND/OR PERFORMING ANY TESTING

TERMS:

PAYMENT FOR SERVICES SHALL BE DUE AND PAYABLE WITHIN THIRTY DAYS OF THE DATE/MONTH THE WORK IS
PERFORMED. THIS PROPOSAL MAY BE WITHDRAWN BY US IF NOT ACCEPTED WITHIN THIRTY DAYS.

COMPANY:

RESPECTFULLY SUBMITTED,

RESPECTFULLY SUBMITTED,

FUQUAY, INC.

TITLE:



FUQUAY, INC.



4861 Old Hwy 81, New Braunfels, TX 78132

Phone (830) 606-1882 Fax (830) 606-1885

PROPOSAL

DATE: May 5, 2025

PROJECT: City of Seguin Melrose Area Wastewater Pipeburst

Buyboard Contract #731-24

\					<u>LIST PRICING</u> <u>MEMBER PRICING</u>			PROJECT SPECIFIC DISCOUNTED PRICING			
		SECTION II: UV CURED PRODUCT									
<u>ITEM 2</u>		Pipebursting Rehabilitation and Related Items									
Section I Item 2	21100	Burst existing 6" or 8" to 8" IPS SDR 19 (0'- 8' deep)	LF	1170	\$83.50	\$97,695.00	-\$5.88	\$77.66	\$90,856.35	\$77.00	\$90,090.00
Section I Item 2	21112	6"-12" Pipeburst Set-up Charge Per Install Length	LF	1170	\$51.50	\$60,255.00	-\$3.6 ⁻	\$47.90	\$56,037.15	\$47.00	\$54,990.00
ITEM 3		Structure (Manhole) Rehabilitation and Corrosion Protection and Related Items									
Section I Item 3	22100	Condition Standards and Repair Methods New Construction	SQFT	189	\$19.50	\$3,685.50	-\$1.37	\$18.14	\$3,427.52	\$15.00	\$2,835.00
Section I Item 3	22103	Condition Standards and Repair Methods Condition 3	SQFT	283	\$54.00	\$15,282.00	-\$3.78	\$50.22	\$14,212.26	\$41.00	\$11,603.00
Section I Item 3	22114	Premium Manhole frame and cover	EA	2	\$3,210.00	\$6,420.00	-\$224.70	\$2,985.30	\$5,970.60	\$2,900.00	\$5,800.00
Section I Item 3	22134	Manhole Rehabilitation Crew	DAY	2	\$12,198.00	\$24,396.00	-\$853.86	\$11,344.14	\$22,688.28	\$5,500.00	\$11,000.00
ITEM 4		Bypass for Gravity Pipelines and Related Items									
Section I	23100	Set Up 3" Pump (Per Pump)	EA	2	\$642.00	\$1,284.00	-\$44.94	\$597.06	\$1,194.12	\$595.00	\$1,190.00
Section I Item 4 Section I	23106	Set Up 3" Piping/Hose	LF	1250	\$13.00	\$16,250.00	-\$0.9°	\$12.09	\$15,112.50	\$5.00	\$6,250.00
Item 4	23112	Operate 3" pumping System	DAY	5	\$2,568.00	\$12,840.00	-\$179.76	\$2,388.24	\$11,941.20	\$1,000.00	\$5,000.00
ITEM 5		Clean/TV and Evaluation for Gravity Pipelines and Additional Associated Items									
Section I Item 5	24100	6" Clean and TV sanitary sewer	LF	1170	\$6.50	\$7,605.00	-\$0.46	\$6.05	\$7,072.65	\$6.00	\$7,020.00
Section I Item 5	24134	6" - 18" Post TV Inspection After Rehabilitation	LF	1170	\$9.00	\$10,530.00	-\$0.63	\$8.37	\$9,792.90	\$8.00	\$9,360.00
ITEM 6		Excavation and Additional Associated Items									
Section I Item 6 Section I	25109	External reconnect (0'- 8' deep)	EA	16	\$2,247.00	\$35,952.00	-\$157.29	\$2,089.71	\$33,435.36	\$1,725.00	\$27,600.00
Item 6	25112	Access Pit (0'-8' deep)	EA	2	\$5,136.00	\$10,272.00	-\$359.52	\$4,776.48	\$9,552.96	\$4,500.00	\$9,000.00

Section I Item 6	25114	Potholing for Nearby Utility Location (0'-8' deep)	EA	5	\$2,247.00	\$11,235.00	-\$157.29	\$2,089.71	\$10,448.55		\$2,000.00	\$10,000.00
	20111	· calculated and a second control of the sec			ΨΞ,Ξ : : : σ σ	ψ, <u>2</u> σσ.σσ	ψ.σ <u>z</u> σ	4 2,000	ψ το, τ τοισσ		- +2,000.00	Ψ.0,000.00
<u>ITEM 20</u>		All Other Underground Construction and Supplemental Items and Related Items										
<u>w</u>	/astewater											
Section I Item 20	38122	Sanitary Sewer Manhole, 48" Diameter (0'-6')	EA	2	\$10,914.00	\$21,828.00	-\$763.98	\$10,150.02	\$20,300.04		\$10,000.00	\$20,000.00
Section I Item	38124	Extra Depth Manholes, 48" Diameter (greater than 6')	VF	2	\$481.50	\$963.00	-\$33.71	\$447.80	\$895.59		\$445.00	\$890.00
Section I Item	38132	Two-Way Sanitary Sewer Clean-out	EA	16	\$1,412.50	\$22,600.00	-\$98.88	\$1,313.63	\$21,018.00		\$1,150.00	\$18,400.00
					, , , , ,	, , , , , , , , , , , , ,	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	, , , , , , , , , , , , , , , , , , , ,	, , , , , , , , , , , , , , , , , , , ,			
	crete/Road	<u>Work</u>										
Section I Item 20	38267	Granular backfill	TON	150	\$96.50	\$14,475.00	-\$6.76	\$89.75	\$13,461.75		\$85.00	\$12,750.00
Section I Item 20	38268	Flowable Fill	CY	20	\$449.50	\$8,990.00	-\$31.47	\$418.04	\$8,360.70	L	\$400.00	\$8,000.00
Section I Item 20	38289	HMAC Hauling	TON	10	\$321.00	\$3,210.00	-\$22.47	\$298.53	\$2,985.30	L	\$80.00	\$800.00
Section I Item 20	38290	Rock Hauling	TON	150	\$321.00	\$48,150.00	-\$22.47	\$298.53	\$44,779.50		\$80.00	\$12,000.00
Section I Item 20	38292	HMAC (Type A, B, C, or D)	TON	10	\$385.00	\$3,850.00	-\$26.95	\$358.05	\$3,580.50	_	\$350.00	\$3,500.00
e	upplement	al Itama										
Section I Item	иррієпієпі	ar items										
20	38297	Traffic control	DAY	10	\$3,210.00	\$32,100.00	-\$224.70	\$2,985.30	\$29,853.00	L	\$250.00	\$2,500.00
						\$469,867.50			\$436,976.78			\$330,578.00
DRAWING AND S MANNER. ANY AI EXECUTED ONLY WORKER'S COMP THERE MAY BE	PECIFICATIO LTERATION (' UPON WRIT ENSATION A AN ADDITIO	ED TO BE AS SPECIFIED, AND THE WORK TO BE PERFORMED IN ACCORDANCE WITH THE NS SUBMITTED FOR THE ABOVE WORK AND COMPLETED IN A SUBSTANTIAL WORKMANLIKE OR DEVIATION FROM SPECIFICATIONS AND DRAWINGS INVOLVING EXTRA COSTS WILL BE TEN ORDERS AND WILL BECOME AN EXTRA CHARGE OVER AND ABOVE THE QUOTATION. ND PUBLIC LIABILITY INSURANCE ON ABOVE WORK TO BE FURNISHED BY FUQUAY, INC. NAL CHARGE FOR PROVIDING A WAIVER OF SUBROGATION AND/OR BEING NSURED ON FUQUAY'S INSURANCE. THE CHARGE SHALL BE EQUAL TO THE										

LISTED AS AN ADDITIONAL INSURED ON FUQUAY'S INSURANCE. THE CHARGE SHALL BE EQUAL TO THE AMOUNT CHARGED TO FUQUAY FOR SAID SERVICE.

EXCLUSIONS:

BOND, SALES TAX, AND OCP PERMITS, BURDENS, FEES WASTE HAUL-OFF SURVEYING SITE CLEARING

BARRICADES, SIGNS, TRAFFIC HANDLING INFILTRATION REPAIR DEWATERING ALL BYPASS PUMPING AND PIPE PLUGGING PROVIDING AND/OR PERFORMING ANY TESTING

TITLE:

TERMS:

PAYMENT FOR SERVICES SHALL BE DUE AND PAYABLE WITHIN THIRTY DAYS OF THE DATE/MONTH THE WORK IS PERFORMED. THIS PROPOSAL MAY BE WITHDRAWN BY US IF NOT ACCEPTED WITHIN THIRTY DAYS.

ACCEPTED BY:	
COMPANY:	
NAME:	

RESPECTFULLY SUBMITTED,

FUQUAY, INC.